Review Questions Atomic Structure.notebook October 16, 2017

Here are three isotopes of an element: 1C

The element is:

The number 6 refers to the

The numbers 12,13, and 14 refer to the

How many protons and neutrons are in the first isotope?

How many protons and neutrons are in the second isotope?

How many protons and neutrons are in the third isotope?
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Here are three isotopes of an element: %#C _BC c
a. Theelementis:_CoVvilooN b~ Iw 3n®

b. The number 6 refers to the_ AtomiC ﬂ = H P+
c. Thenumbers12,13,and 14 refertothe MASS H (Suw\ O'P P+‘\’ 7\03

d. How many protons and neutrons are in the first isotope? b P-‘— bn®

. . + o
e. Howmany protons and neutrons are in the second isotope? (OD /n

f. Howmany protons and neutrons are in the third isotope? IQP{_ Bn°
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Complete the following chart:

October 16, 2017

Isotope name

Isotope
Symbol

atomic
#

# of
protons

# of
neutrons

# of
electrons

uranium-235

uranium-238

1OB3+
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Complete the following chart:

Isotope| atomic # of # of # of
Isotope name | Symbol # mass#| protons | neutrons | electrons

uranium-235 zc_"sgu W |35 92 Zic';;;? A2
uranium-238 U] 92 239 92 ngq_cj | a2
Boron-10/sB*1 5 | 10| S 5 2
sl 5] 6 | 5

| boron-11
I
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Naturally occurring europium (Eu) consists oftwo isotopes was a mass of
151 and 153. Europium-151 has an abundance 0f48.03% and Europium-153
has an abundance of 51.97%. What is the atomic mass of europium?
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151 and 153. Europium-151 has an abundance 0f48.03% and Europium-153
has an abundance 0f51.97%. What is the atomic mass of europium?

65( X quﬂ{-(ﬁ'&x 5—"‘7)

72,53 + 79451 =
(S2.04 «w
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Calculate the energy assocCiated with @ photon of
light that has a wavelength of 325 him. What
portion Oof the eleCtromagnetiC speCtrum would
this light belong to? uv L“j’\t

326 o 0.000 900 90 |m _
I am

I

> 4
c-15 C-¢ j;gf;!% ' s =

Eohf E= Lb2x0Y8 x 92350 s
=l \2 x\Oﬂm J
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Possible spectral lines for 1. What does an arrow up in the diagram
hydrogen. n=7 indicate? arrow down?
-

n=5FFF ~n=6 2. Why are the lines for energy levels 5

n=41N through 7 converging together and

n=3-¥ 3 levels 1 & 2 so far apart?

n=2

‘ 3. Which transition represents the
n=l1 A\ 4 largest emission of energy?

4. Which transition represents the light emitted with the shortest wavelength?

5. Which transition represents the light emitted with the lowest frequency?
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Possible spectral lines for 1. What do rrov@in the diagraml
hydrogen. _ ndicate?_ arrowq E Emlssion
=7 ¢ Absovph o

n=5—"F2"F ~n=6 2. Why are the lines for energy levels 5

n= 4_"1 2 through 7 converging together and
n=3 . levels 1 & 2 so far apart?
n=2 Diferencs in enegy (v

between L2, Small bchuweens,u
3. Which transition represents the

n=l1 W largest emission of energy?
Povao H H (s o I)
4. Which transition represents the light emitted with the shortest wavelength?

Arnw4Y Most eneryy ——Ma\k_m\’ Lrequuemin = Shortest A

5. Which transition represents the light emitted with the lowest frequency?

Ao e | (740D Shorkest anvow, least Sneeay ) lwest Fregpency

4

10
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Write the orbital diagram for fluorine.

Write the electron configuration for selenium
writing the entire configuration starting at 1s.

Write the electron configuration for polonium using a noble
gas to represent the core electrons.

Write the electron configuration for gadolinium using a
noble gas to indicate the core electrons.

11
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Write the electron configuration for yet to be
discovered element 149 assuming Uuo is a
nobel gas. Follow the pattern you have

12
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